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In this case study, you’ll analyze United Technologies’ $16 billion acquisition of Goodrich Corporation, one of the largest aerospace & defense M&A deals in recent years.
Officially announced on September 22, 2011, the deal represented a move by United Technologies to get back into the commercial aircraft market and begin building market share there once again.
Goodrich Corporation is a leading global supplier of systems and services to the aerospace & defense sector, and designs and delivers landing gear, engine control systems, sensors and safety systems, and more.
In part 1 of this case study (included in the homework assignment), you filled in the transaction structure, assumptions, and scenarios as well as the sources & uses and part of the combined income statement. 
In part 2 of this case study, we’ll complete the merger model by allocating the purchase price, combining the balance sheets, and calculating possible revenue and expense synergies. We’ll use the output of that analysis to answer case study questions and establish whether or not the deal made sense for both parties.
Excel Setup – IMPORTANT
In this model we may encounter circular references. To ensure that they work correctly and that Excel does not crash, please go to Options (Alt + T + O) and then the Calculations tab in 2003 or the Formulas menu in 2007/2010, and make sure your options looks like this:
[image: ]
If you do NOT have “Enable iterative calculations” checked you will run into problems in most Excel models, including this one.
Part 2A – Purchase Price Allocation
Using the information from the sources & uses schedule and the scenario and transaction assumptions at the top, fill in the purchase price allocation schedule using the following assumptions:
· Assume a 10% PP&E write-up with the write-up depreciated over 8 years.
· Assume that 20% of the excess purchase price is allocated to intangible assets, amortized over 5 years.
· Assume that a new deferred tax liability gets created based on both of these (hint: to figure out the formula, think about how much in taxes the combined company will owe in future years).
For the rest of the assumptions, please follow what is already labeled in the purchase price allocation schedule.
Part 2B – Combining the Balance Sheet
Remember from your accounting that a debit on the assets side means a reduction, and a credit on the assets side means an increase; vice versa for the liabilities & equity side.
Keep in mind the following points when combining the balance sheets:
· How much cash is being used for everything? Think about deal consideration and fees and miscellaneous items.
· Most of the long-term assets will change – there will be write-ups, write-offs, or new items being created. Please refer to the purchase price allocation and assumptions at the top for these.
· On the liabilities & equity side, remember to take into account whether short-term and long-term debt get refinanced or are assumed.
· Also remember that the deferred tax liability will change in several ways.
· For the Equity line item, remember that the transaction fees need to be reflected somewhere.
Part 2C – Revenue and Expense Synergies
For the Revenue & Expense Synergies, make the following assumptions, using the data supplied on the “Synergies” tab of the Excel file and the data contained in the CS equity research:
· Pull the annual commercial aircraft delivery numbers from page 13 of the CS equity research on United Technologies. Estimate the 2012 and 2013 numbers based on the historical numbers and the chart.
· Use the first chart on page 6 of that report to estimate the P&W (United Technologies’ commercial aircraft division) share of the deliveries; assume a decline to the 2015 figure.
· Pull the estimated P&W revenue and the P&W operating margin for 2012 and 2013 from page 24 of the same report.
· Assume that United Technologies’ acquisition of Goodrich boosts its market share in aircraft deliveries by 0.5% in 2012 and 0.7% in 2013.
· Following the CEO’s guidance in the FT article on the deal, assume that Goodrich Corporation’s costs & expenses as a percentage of revenue will fall by 0.5% in 2012 and 1.0% in 2013.
Once you’re done with everything above, fill in the rest of the combined income statement and make sure that the accretion / dilution calculations reflect all these new items.
Also once you’re done, please complete the sensitivity table at the bottom of the file using Scenario 1 with % stock consideration ranging from 5% to 45% and purchase prices ranging from $115.00 to $137.50.

Part 2 – Discussion Questions

Use your completed model and sensitivity table as well as the equity research and links to discussions of the deal to answer the following questions:

1. If you were United Technologies, would you have acquired Goodrich? Would you have done it at a different price or with a different mix of cash, stock, and debt?
2. Why would United pay nearly a 50% premium for Goodrich when the synergies are low to nonexistent?
3. What are the flaws with the way we calculated synergies? Do you think the revenue synergies or expense synergies are more likely to be off?
4. What’s the key factor that makes this deal work, and what does that tell you about the timing of the acquisition?
5. Given the data we’ve analyzed, the deal commentary in the news sources, and the equity research, do you think this deal will accomplish United Technologies’ likely objectives in the short-term and the long-term?
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